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1. 𝑐𝑜𝑠𝑒𝑐 15° + sec 15° is equal to

a) 2 2 b) 6 c) 2 6 d) 6 + 2

2. If sin 𝐴 =
4

5
 and cos𝐵 = ― 12

13
, where 𝐴 and 𝐵 lie in first and third quadrant respectively, then 

cos(𝐴 +  𝐵) is equal to

a)
56

65
b) ― 56

65
c)

16

65
d) ― 16

65

3. If cotθ + tanθ = 𝑚 and secθ ― cosθ = 𝑛,   then which of the following is correct?

a)𝑚(𝑚𝑛2)1/3 ―𝑛(𝑛𝑚2)1/3
= 1 b)𝑚(𝑚2𝑛)1/3 ―𝑛(𝑚𝑛2)1/3

= 1

c) 𝑛(𝑚𝑛2)1/3 ―𝑚(𝑛𝑚2)1/3
= 1 d)𝑛(𝑚2𝑛)1/3 ―𝑚(𝑚𝑛2)1/3

= 1

4. If in a ∆ 𝐴𝐵𝐶,
(sin𝐴 + sin𝐵 + sin𝐶)(sin𝐴 + sin𝐵 ― sin𝐶) = 3sin𝐴 sin𝐵, then

a)𝐴 = 60° b)𝐵 = 60° c) 𝐶 = 60° d)None of these

5. Equation cos2𝑥 + 7 = 𝑎(2 ― sin𝑥 ) can have a real solution for

a) All values of 𝑎 b)𝑎 ∈ [2, 6] c) 𝑎 ∈ ( ―∞, 2) d)𝑎 ∈ (0, ∞)
6. In a ∆ 𝐴𝐵𝐶, ∠ 𝐴 =

𝜋
2

, then cos2𝐵 + cos2𝐶 equals

a) ―2 b) ―1 c) 1 d)0

7. In any ∆ 𝐴𝐵𝐶, 𝑏2sin 2 𝐶 + 𝑐2 sin 2 𝐵
a)∆ b)2 ∆ c) 3 ∆ d)4 ∆

8. In a triangle the length of the two larger sides are 24 and 22, respectively. If the angles are in  

AP, then the third side is

a) 12 + 2 13 b)12 ― 2 13 c) 2 13 +2 d)2 13 ―2

9. If in a ∆𝐴𝐵𝐶,𝐴𝐷,𝐵𝐸 and 𝐶𝐹 are the altitudes and 𝑅 is the circum-radius, then radius of the 

circumcircle 𝐷𝐸𝐹 is

a)
𝑅
2

b)2𝑅 c) 𝑅 d)
3

2
𝑅

10. If 𝑎,𝑏,𝑐 denote the sides of a ∆𝐴𝐵𝐶 and the equations 𝑎𝑥2 +𝑏𝑥 + 𝑐 = 0 and 𝑥2 + 2𝑥 + 1 = 0 

have a common root, then ∠𝐶 =

a) 30° b)45° c) 90° d)60°

11. If a circle is inscribed in an equilateral triangle of side 𝑎, then area of the square inscribed in the 

circle is

a)
𝑎2

6
b)

𝑎2

3
c)

2𝑎2

5
d)

2𝑎2

3

12. The value of the expression cos1°.cos 2°…..cos 179° equals

a) 0 b)1 c) 1/ 2 d) ―1

13. The general solution of the equation 2cos2𝑥 +1 = 3.2―sin𝑥 is
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a)𝑛𝜋 b)𝑛𝜋 ― 𝜋 c) 𝑛𝜋 + 𝜋 d)None of these

14. If sin𝐴 ― 6cos𝐴 = 7cos𝐴, then cos𝐴 + 6sin𝐴 is equal to

a) 6sin𝐴 b) ― 7sin𝐴 c) 6cos𝐴 d) 7cos𝐴
15. If 𝑦 =

tan𝑥
tan3𝑥, then

a)𝑦 ∈ [1/3, 3] b)𝑦 ∉ [1/3, 3] c) 𝑦 ∈ [ ―3, ― 1/3] d)𝑦 ∉ [ ―3, ― 1/3]

16. If 
3𝜋
4

< 𝛼 < 𝜋, then cosec2𝛼 + 2 cot𝛼 is equal to

a) 1 + cot𝛼 b)1 ― cot𝛼 c) ―1 ― cot𝛼 d) ―1 + cot 𝛼
17. The equation 𝑎sin𝑥 + 𝑏 cos𝑥 = 𝑐, where |𝑐| > 𝑎2 + 𝑏2 has

a) A unique solution

b) Infinite no. of solutions

c) No solution

d)None of these

18. The number of solutions of the equation tan𝜃 + sec𝜃 = 2 cos𝜃 lying in the interval [0, 2 𝜋], is

a) 0 b)1 c) 2 d)3

19. The least positive non-integral solution of sin𝜋(𝑥2 + 𝑥) ― sin𝜋𝑥2 = 0, is

a) Rational

b) Irrational of the form 𝑝
c) Irrational of the form 

𝑝 ― 1

4
, when 𝑝 is an odd integer

d) Irrational of the form 
𝑝 + 1

4
, where 𝑝 is an even integer

20. If 𝐴 and 𝐵 are acute positive angles satisfying the equations 3

sin2𝐴 + 2 sin2𝐵 = 1 and 3 sin2𝐴 ― 2 sin2𝐵 = 0, then 𝐴 + 2𝐵 is equal to

a) 0 b)
𝜋
2

c)
𝜋
4

d)
𝜋
3
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